1. CT9713 - 0/ CTD9713-0/ CXD2713 - 0 ‘H4&5 BRI B (5%
Parts List For CT9713 - 0/ CTD9713-0/ CXD2713 - 0 Overlock Seam Covering

LTI

$

Y
\

W

\ il
i
\S)

7

AN
\

-(\
o
S

s
¢
Ll DA
~N N
.
\\\ \
Y

S
\,

\
¢ &

/
L
Y

Frak 278 $t8 Number Of Needle / $tFE Distance Of Needles
Ref No. Description 2 Needle/4.0 3 Needle/ 4.8 3 Needle/5.6 3 Needle/6.4
1 $toAL 5226TP13404 5026TP13484 5026TP13564 5026TP13644
Needle Plate Asnm,
ERFI4H
o procc i . | 5220PF00404 5220PF00485 5020PF00564 5220PF00644
XA
3 Moin Feed Tog 5226F D11481 5226F D11481 5226F D11561 5226F 11561
o
4 DiF?J’éjEE;EDOQ 5226DF13481 5226DF13481 5226DF13560 5026 DF 13560
5 Aux Feed Dog 5226AF13480 5226AF13480 5226AF13560 5226AF 13560
prgifl |
9 Feed Doy Asn. 5026060012 5226DG0012 5226DG0009 5226060009
K
13 Needleplo te 50P6TP13404A 5026TP13484A S0P6TPI3S64A |  5226TP13644A
#taieH
x5 | SRR | seeeTPI3407 5026TP13487 5026TP13567 5eP6TP13647
*16 ST S0P6TP13407A | 5226TP13487A S50P6TPI3567A | 5226TP13647A
Needle Plate
&lehal
o18 Noogll Al 5226TP13568 5026TP13648
019 Neef:ffﬁpla e S50P6TP13568A |  5226TP13648A
$Heked
AR0 Neogis B | s2e6TP13409 5026TP13489 5226TP13569 5026TP13649
Apl Neegfjﬁpla e 5026TP13409A 5026TP13489A S50P6TPI3569A |  5226TP13649A
17, BR44FEYE Screw Req.
#8% Number Of Needle / $F¥E Distonce Of Needles
2 Needle / 40 | 3 Needle / 48 | 3 Needle / 56 | 3 Needle / 64
VIEHESE | B8SH32440300A | 8SGR4560300A 8SH32440300A
Parts No.| ( SHI4E5 1/844x25 ) | ( FTel-01-30 3/32'-56%23 ) ( SHO465 1/8'-44%25 )
HirHE
Amt. Req. e 3



1. CT9713-0 / CTD9713-0 / CXD2713 - 0 E1&&E 5 FR&E FHE (513

Parts List For CT9713-0/CTD9713-0/CXD2713 - 0 Overlock Seam Covering

P 5% Yk & 55k

Ref.No. Parts No.
1
Y .
L
4 e
o S —
6 2260130106
7 2260130107
8 8SB24560405A
L
10 2260000211
11 SMB75180505A
12 8MB75180505A
13
14 5220PF0356M
%15 e
16 cmmemmecceemmeeee
17 s
ORI
(O I ——
YN | ——
A2l

* CT9713-0-L / CT9713-0-X / CTD9713-0-L / CTD9713-0-X / CXD2713-0-L / CXD9713-0-X #H%I

# TH

Description

#4540 Needle Plate Asm. ( See left page )
JERHAIZH Presser Foot Asm. ( See left page )

T 3EAA B Main Feed Dog ( See left page )

BI3:47 8% Diff Feed Dog ( See left page )
i Bh %S Aux Feed Dog ( See left page )
55 Fabric Guide (R)

FEE Fabric Guide (L)
224 Screw (SH0413 3/32"-56*4)

3EAR 5 4H Feed Dog Asm. (See Left Page)

$5H Gefender

124% Screw (CTS0218 M2.5-0.45%5)
124% Screw (CTS0218 M2.5-0.45%5)

$14K Needle Plate ( See Left page )

124% Screw (M3.5-0.6*8)
#4540 Needle Plate Asm. ( See left page )
$14K Needle Plate ( See Left page )

1844 Screw ( See left page)
$14K4H Needle Plate Asm. ( See left page )
#1# Needle Plate ( See Left page )

$1454H Needle Plate Asm. ( See left page )

$18K Needle Plate ( See Left page )

© CT9713-0-H/CTD9713-0-H/ CXD2713-0-H #%ZIH
A CT9713-0-L1 / CTD9713-0-L1 / CXD2713-0-L1 ##AIH

HBiIH=E
Amt. Req.

—_ = e



2.CT9713 - 1/CTD9713-1 / CXD2713 - 1 5 BREE FIZ 4513
Parts List For CT9713 - 1 /CTD9713-1/ CXD2713 - 1 Overlock Seam Covering

Pt e #H8 Number Of Needle / $FEE Distance Of Needles
Ref No. Description 2 Needle/4.0 3 Needle/ 4.8 3 Needle/3.6 3 Needle/6.4
1 $18 5226TP13405 5226TP13485 5226 TP13565 5226 TP13645
Needle Plate
g I
2 P 5220PF00404 5220PF00485 5220PF 00564 5220PF 00644
resser Foot Asm.
B o¥-ii
3 Main Feed Dog S5226FD11481 S5226F D11481 5226FD11561 S5226FD11561
4 . Bl A 5226DF13481 5226DF13481 5226DF 13560 5226DF 13560
Diff Feed Dog
5 R S5226AF13481 S5226AF13481 S5226AF13361 S5226AF 13361
Aux Feed Dog
3, 4
9 AR 5226DG0010 5226DG0010 5226DG0011 5226DG0011
Feed Dog Asm.

14, 184 R51R Screw Req.

% Number Of Needle / #tFE Distance Of Needles
2 Needle / 4.0 3 Needle / 48 3 Needle / 5.6 | 3 Needle / 6.4
YkldETR 8SH32440300A 8SG24560300A 8SH32440300A
Parts No.| ( SHO463 1/8"-44x25 ) | ( FT60-01-30 3/32*-56%2.3 ) ( SH0465 1/8"-44%2.5 )
B A&
Amt. Reaq. 2 3




2.CT9713-1/CTD9713-1 / CXD2713 - 1 455 BRI E(151%%
Parts List For CT9713-1/CTD9713-1/CXD2713 - 1 Overlock Seam Covering

¥ 5% Ykt 4w 5% # T HBiIH=E
Ref.No. Parts No. Description Amt. Req.

1 4540 Needle Plate Asm. ( See left page ) 1

) e JEHAI4H. Presser Foot Asm. ( See left page ) 1

3 A Main Feed Dog ( See left page ) 1

4 e EIl#4A451E DIff Feed Dog ( See left page ) 1

5 e BN 24T S Aux Feed Dog ( See left page ) 1

6 2260130206 75 25 Fabric Guide (R) 1

7 2260130207 2R Fabric Guide (L) 1

8 8MB75180505A 1844 Screw (CTS0218 M2.5-0.45%5) 2

e %7 E54H Feed Dog Asm. (See Left Page) 1

10 5220PF0356M 224 Screw ( M3.5-0.6*8) 1

5 —— -

12 8MB75180505A 1844 Screw (CTS0218 M2.5-0.45%5) 1

13 e 414 Needle Plate ( See Left page ) !

14 1844 Screw ( See left page) -



3.CT9713 - 2/ CTD9713-2 / CXD2713 - 2 H4E 5 BR&E B (5%
Parts List For CT9713 - 2 / CTD9713-2 / CXD2713 - 2 Overlock Seam Covering

! //'\\‘\

mmmmmmmmmmA

\
“ 3~
L% N
) \,
W
XY

FEe 278 #18 Number Of Needle / #EE Distonce Of Needles
Ref.No. Description 2 Needle/4.0 3Needle/ 48 3 Needle/3.6 3Needle/6.4
1 ST 5226TP13404A 5226TP13484A 5226TP13564A S5226TP13644A
Needle Plate
FERRATAH
2 5220PF 00404 5220PF00485 5220PF 00564 5220PF00644
Presser Foot Asm,
3 .I%jﬁ@ 5226F D11481 5226F D11481 5226F D11561 5226FD11561
Main Feed Dog
Y
4 . Bl XAt 5226DF13481 5226DF13481 5226DF13560 5226DF13560
Diff Feed Dog
it
5 Aux Feed Dog S5226AF13480 S5226AF13480 S5226AF13560 S5226AF13560
; A
9 AT 5226DG0012 5226060012 5226DG0009 5226DG0009
Feed Dog Asm.
*11 ST8 5226TP13407A 5226TP13487A 5226TP13567A 5226TP13647A
Needle Plate
o4 St S026TP13568A | Se26TPI3648A
Needle Plate
AlS ST3 5226TP13409A 5226TP13489A 5226TP13569A 5226 TP13649A
Needle Plate

13, BB Screw Req,

#% Number Of Needle / #F¥E Distance Of Needles
2 Needle / 4.0 3 Needle / 48 3 Needle / 5.6 | 3 Needle / 64
Wkl 4RGSR 8SH32440300A 8SG24560300A 8SH32440300A
Parte No.| ¢ SHI6S 1/844x25 ) | ( FIBI-OL30 Y/32-56x23 ) ( SHO465 1/8'-44%25 )
=N
BirAE 5 3
Amt. Req.




3. CT9713-2 / CTD9713-2 / CXD2713 - 2 E4& 5 FREE FAE 4513

Parts List For CT9713-2/CTD9713-2 / CXD2713 - 2 Overlock Seam Covering

ot MR P
Ref.No. Parts No. Description

.................... $18K Needle Plate
____________________ JEEHAI4H Presser Foot Asm. ( See left page )

-------------------- £ 7A1ES Main Feed Dog ( See left page )

-------------------- Ell%A7Es Diff Feed Dog ( See left page )
-------------------- HHBhEATES Aux Feed Dog ( See left page )

2260130306 15248 Fabric Guide (R)

2260130307 728 Fabric Guide (L)

SMB75180505A 2% Screw (CTS0218 M2.5-0.45%5)
-------------------- %7 E54H Feed Dog Asm. (See Left Page)

O 00 1O\ Lt A~ W

10 5220PF0356M ¥2%% Screw (M3.5-0.6*8)

oI 1 —— $t8k Needle Plate ( See Left page )
12 SMB75180505A 1844 Screw (CTS0218 M2.5-0.45%5)

5 —— 4% Screw ( See left page)

© 14 e #1#5 Needle Plate ( See Left page )

/AN & T — #1# Needle Plate ( See Left page )

* CT9713-2-L/ CT9713-2-X / CTD9713-2-L / CTD9713-2-X / CXD2713-2-L / CXD2713-2-X #&Z4 A
© CT9713-2-H/CTD9713-2-H/ CXD2713-2-H #AIH
A CT9713-2-L1/CTD9713-2-L1 / CXD2713-2-L1 ##&IH

HBiIH=E
Amt. Req.

S S GG GRS N Y Gy GG G U



